Ratio to CMS

7000 GeV pp Jets
QS 10 | T T T T T 1 T T 1

=10 EE | E%
% 10° ;g Jetp_(NSD, 1.5 <y| < 2.0) ég
S 0° b %
>\ — ELO
-O|_ . :: =
o2 100 & =°
C\IB 10° ;? E;%
° = 3=
10° = =

10* =

10° = =
2 | 948
10° == =¥
— :(d
10 a cms El
1 - --©O-- Herwig++ 2.7.1 default E:E
. = --3-- Herwig 7.2.0 default = é
10" 5 —«— Pythia 8.301 default ==
1072 —  --¥-- Pythia 8.301 vincia-default <
----- ¢+ Sherpa 1.4.1 default u 8
_3 o
10 £
o
(@]
S

10_4 | | | |
Y
2 52
1 :1
0.5 —0.5
) oo




	Contents
	Page 1


